— ™
@
— |~
@
— | <
@
o
— o
© A

ull
KO

A




31|

..._“_..u
P




0.5)2.5

@)25+5 @ 250+5

D 25+5

® 250+0.5

@ 25=+50

o Ahe)a ]

E5o=

Ake] 712 o] LeAle] A4S

.CT).J__

A (AD%): (FE9) 2 9E 5 %

25+05=25+5

B
Q.
i




ct.

U

T 239

]

[ ]+12

O

iz Mo,

L],

100

o thaloE 1A AM

4.32 +0.12
432

100

432

36

432 +12 = 36

432 12
100 ~ 100

4.32 +0.12




& % Aol ol A &

rlo

2 ol AYU7A?

(@)20.088 +64.8 @ 20.088 + 6.48 3 20088 + 648

@ 2008.8 + 6.48 ® 2.0088 + 0.648

B

H719 WAl 9] Ui 9 UrolR= 9 a0dE
Zhe] 4= gtE SR A Ui 55 648 = 950 FU T} of
H719l Al e v 5 648 = g0z LAl
ol 7H Z2 A2 UrolA= 7t 71 22 Ay h
214 20.088 + 64.8 9] Zro] 7H4 A5 Yth,

@ 200.88 + 648

@ 2008.8 + 648

® 20088 + 648

@ 200880 + 648

® 2008.8 + 648

My
lo

Bl &y




Folet ]

jo

__o_l
ol
©
J
R

E
00
e
ol
00
)

fe]

5] 8 : 6olA ool
o}




HoAQ,

=
[}

Zrel iz A

16:|:|

@x[D:(x[)

4:7

ul
&

P

A

ull
&

KO

. 28

ull
S

<0

16 : 28

(7x 4)

(4x 4) :




013

— =7:13

13




=971 100.48 cmQl HO] 2|59 dol= % cmYUY7P?
= cm

>
[> HEFD 32cm

100.48 + 3.14 = 32( cm)




RSN
I I
e [
._. ._.
0[O |

Q@ ©

3_0
— |
2_5
— N0 [© 0o I
Il I I 2N
— |
O ho NI <t m x
o X X Nhs
AN 10 [ 10 |00




— |~ |00
— D~

Il Il
[Sel RS NP
._. ._.
S [0 | <t

Q ©




12.

13 8
T 72 =]
7 8
@ L o 2 ® 1= @)1= ® 1=
8 9
1
1,8 _13 % 38 9
4 "%9 4 "9 4 226“
1 9 9 1
X — = — = 1—
15273




il

olJ
A

2
12
©3

|




7 A 2 AL o AU

=

A

Al

14.

1
3

@ 5+
® 10+

1
2

Yol
NeJ —
I

X X

| Ten}
e
Il

X

<t
N
Il

N N — 0|~ <t




U7t

o
5

AGRR B RES o 9, dolAd B meFir 19
Yt ojd me

%

©
—

op oo

T

IIIIIIIII

\m

A




A

o
R

i)
oo
ofx
i
r

HENEAQ.

@)6 : 3 9 AFT FFol 02 Fotol= v e R
@ 4:69] 1|9 Ft2 8:129] ]9 it FHych

@)2: 59 Al 38 Bl H]2] groli= W] gt
@ 4:79) A3} FPol| 28 Lol vl e T

® 3:99] o] ke 1:39] u] <] ZHat 25U




O 134 @ 1442 3)15 A7t

—




—_—

<

_.L
I

el
K
i
il
Nfo
,mo
T
ojn

et

W2 2)x3.14 JYt}.

(

ol W
ol o
i J_.NO
‘o] )

Nf T

—

ﬂ
o
ﬂ
Eﬂ_nr__\o_‘_

= o
m;w%
T g

- 0

00

1
x3.14




el

ol
W

7.5
@EXE

I~ 0 |©

© WO |-

Q@ ©

NeRpia)

0 | b~




|

o

..._“_..u
K0

504 +
- 84 =
6(%)

" 10




6 7}
1

o

B

)
16 (7
7 =

=2,

44 +




22. SR UMAE ZR TF AL BT A=A (H37)

D)24+19=1---15 @ 234+11=21---03
®)45+16=2---13 @31.6+3.7:8---0.2

® 9+0.35=25---0.25

®24+19=1---05
®45+16=2---13
@31.6+-37=8---2




23. [ Jokol dore 28 MY oA,

[ ]+132=041---0.007

o

>
> e 5419

[ ]=132x%0.41+0.007 = 5.419




1 3
@1:527:10 © 07:09=7:90
@8:%240:4 ® 48:8=3:5
@ 06:1=15:25 ® 10:1=100:2
® 6.6.e @eeo6 ® 00.0
@ ©0.0 6 ©.0.0

1 3
©0.7:09=7:9

4
@8:5:40:4
®48:8=3:5
@©®06:1=15:25
®10:1=20:2




25. 2% 17 qigt dgom g7 e AL ol AY

@ 3502 o]2olA 9

o

Yt

@ 1%l 25 8700 717t A Y,

@ Yo B refe Sel=y

@ BT 12709 47127t A8 E 95U
@eezgogrnge _ Quh

©® g £ B Sy




